9C

1) onthe graph
3 .
2) slope = 5 = 1
3) y-intercept = 4
4) Y=X+4, X-Y=-+4
5) A (Y=-X-1), C (Y=-X

6) onthe graph

) grap y #3
\ [
3

#6

|LL

7) 2

8) Y=-3X-1,soslopeis -3

9) Y-183X=2, X-3Y=-6

10) 2Y=-3X+1, Y=-3R2X+1/2

11) (3-11)2x2+16-7=3Y-4Y+9
(-82x2+16-7=-Y+9

64x2+16-7-9=-Y

128 +16-16=-Y, 8-16=-Y, 8=Y

12) (3-5)2+ [6-4]-X=3X
22+ 2]-X=3X
4+2=4X, 6=4X, 112=X

13) 3(A-4)-5(2A - 6) = 21
3A-12-10A+ 30 =21
7TA+18=21, -7A=3, A=-3/7

3
ey o do e S5 10
20+ 12A=33, A=11/12

15) -62 - (-6)2 =-36 - 36 = -72

16) 54+ 5-(-7)=10+7=17

17) -[-(D]=-171=-7

18) (-8)2=64

19) 25%=.25, .25x76.98=$19.25
20) 45% =.45, .45x 600 =270 people

9D

1) on the graph <
6

2) slope= — =1

) slope= —

3) y-intercept = -4

4) Y=X-4, X-Y=4

5) C (Y=1/4X+2)

6) on the graph

Y
Y
#3
|_—w#6
<t e X
1
4] I
y | 6
7) Y=1/4X-1

8) Y=-2X+3, slope =-2
9) 2X-Y=-5
10) 4Y=-2X+8, Y=-12X+2

1) F-1-1-1R =(-1)2 + B(-1) + 1
16=1-B+1, 15=-B, -15=B

12) 3+52+ [8-11]+Z2=4(Z-2)
82+ |-3]+2=42-8
64+3+Z=4Z2-8, 75=3Z, 25=2Z
13) 5(B-6)+4(2B +7) =102
5B - 30 + 8B + 28 = 102
13B-2=102, 13B=104, B=8

14) 55Q-30Q =125
25Q=125, Q=5

15) -{-[-(-8)]1}=-{-[8]}=8
16) -92 = -81

17) -(-4)=4

18) 32 +(-3)2=9+9=18

19) 76%=.76, .76 X 200 = $152

20) WE  or 2
)KXB/ 5

check
2
WF:L:L 1_)(1__—_2
8 4 A 1

on the graph

2) slope = % = -2
3) y-intercept = -3
4) Y=-2X-3, 2X+Y=-3
5) B (Y=3X), C
6) on the graph (line will have a slope of 3)
W3 Y #6
A
R\ /
& /
X
/
-2
\
y
14
7) Y=3X-2
8) -1/5
9) 3X+Y=-6
10) Y+2X=-1, Y=-2X-1
11) 24Y - 108Y + 96 = 48 - 12Y
-84Y + 96 - 48 =-12Y
48 =72Y, 2R=Y
12) {-[-(9)]+72}+5:2=Q+4
{-9+49}+5+2=Q+4
40+5+2=Q+4, 8+2-4=Q, 0=
13) 8(A+3-9)-4(2A +5)=2A+4
BA+24-72-8A-20=2A+4
-68-4=2A, -72=2A, -36=A
14) (6+6)2+ [100-1|-142=5x9+B
122 +99 -196 =45 + B
243-196-45=B, 2=B
15) -[-(6-9+3-5)] =-[-(-5)]=-5
16) -53 =-125
WF 3
17) i M e
10 10 ceck
wF=_3_ 3 xH. a3
1 10 1
18) 8.75 +.25 = 35 packs
19) 6% =.06, .06x115=$6.90
20) -N2-N2

10A

1) on the graph

- 2) slope = £,

> 4

n

3) y-intercept =0

4) Y=4X

5 B

6) on the graph

7) Y=-1/4X+2

8) Y+1/4X=2 X+4Y=8

Y #3
A
#64
I~ /
\\
< 8 X
/
/
2
N
y

9) on the graph
10) slope =- % =-1
11) y-intercept = -2
12) Y=-X-2
13) A (Y=X-2)
14) on the graph

15) Y=X+2
16) X-Y=-2
Y #14
| A ]
2 X
-2
4 ||
#11
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#1
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1) on the graph

2 1
2) slope—-—a— =

3) y-intercept =2
4) Y=-1/4X+2
5 A (Y=4X-5)
6) on the graph
7) Y=4X+4
8) 4X-Y=-4
Y 4#6

4

9) on the graph

4
1 = — =
0) slope p 1

11) y-intercept = 1
12) Y=X+1,
13) A
14) on the graph
15) Y=-X-4
16) X+Y=-4
Y #11

10C

1) onthe graph
2) slope= = = —
=T T3
3) y-intercept = -4
4) Y=1/3X-4, X-3Y=12
5) B, C (Y=-3X-1)
6) onthe graph
7) Y=-3X+6, 3X+Y=6
8) onthe graph
#8) #6*/
J \
\
\
\
- \ el x
\
3 —T" #3
/2 \
| \J
1 6\
9) Y=-3X-4, 3X+Y=-4
10) slopes are the same, so lines are parallel
11) 6X-X+3=4X+7
5X+3=4X+7
X=4
12) 2X-X+12=X-12
-3X-X=-12-12
-4X =24, X=6
13) [-3+7)1-42 +(-4)2=2R
10-16+16 =2R
10=2R, 5=R
9 -7 2 2 6 -4
14 Y+ — = —_—
) 08— ()~ = 08—
-63Y +4=-24, Y=4/9
15) 100% - 60% = 40%
16) 40% of $12,900 = .40 x 12,900 = $5,160
17) 15.3% =.153, .153 x5,160 = $789.48
18) 25:2=.1250r121/2 ¢
19) 8x.125=$1.00 (or 4 x .25 = $1.00)
20) T=5W+3, T =total and W = weeks

(different letters may be used)

10D

1) on the graph
-6

=— =2
2) slope 3

3) y-intercept=1

4) Y=-2X+1, 2X+Y=1
5 A

6) on the graph

7) Y=1/2X-1, X-2Y=2
8) on the graph

#3 \% #8
ad
i\
#6
v
« -6 »! X
3
X

9) Y=1/2X+3, X-2Y=-6

10) slopes are the same, so lines are parallel

1) 2X+2-X+2X=3X-3+10-X
3X+2=2X+7
X+2=7, X=5

12) 3Y-1+2Y-1-4Y=2Y+3+Y +1

Y-2=3Y+4
-6=2Y, -3=Y

13) -(6+7)2 + (10 + 5)2 = 5M

-169 +225=5M, 56=5M, 111/5=M

20 .5 15

14) M—y:jﬁﬂ)%*!‘wjﬁﬁ)/—;— A

-100 = -135 + 72A, 35 = 724,
15) 100% - 55% = 45%

16) 45% of $9,645 = .45 x 9,645 = $4,340.25

17) 15.3% =.153, .153 x 4,340.25 = $664.06

18) 2.50 +.25=10, 10x 2 = 20 bits

19) 100+2=50, 50x.25=$12.50

20) L=W +5, L =length and W = weeks

(different letters may be used)

10E

1) on the graph

2) slope = ~11~ = -1

3) y-intercept = -1

4) Y=-X-1, X+Y=-1
5) C

6) on the graph

7) Y=X-2, X-Y=2
#3 Y

#6

8) 5Y-3-2Y +4+3Y=4Y +9 +4Y

6Y +1=8Y+9, -8=2Y, -4=Y

9) M-4-2M+20=M+7-5M + 11

3M+ 16 =-4M + 18, -2 = -M,

10) |-3-4-5+2[+W=23W
[-10 |= oW

9 13 4,29 3

11) %7B=‘3€)/g/+@5)

117B =116 + 15,
117B=131, B=114/117

12) 100% - 48% = 52%

10=2W. 5=W

2=M

5

1z

13) 52% of $25,813 = .52 x 25,813 = $13,422.76

14) 15.83% =.153,

1563 x 13,422.76 = $2,053.68 (rounded)

15) 20 x 12 = 240 pence
16) 5 x 20 =100 shillings

17) C =-20W + 1000,
C = cash and W = weeks

18) V100 =10
19) V36 =6
20) V144 =12

(10x 10 = 100)
(6 x 6 =36)

(12x12 = 144)
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